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B. B. A. (First Year) 

 Term End Examination, June-July, 2020-21 

Paper First 

PRINCIPLES OF MANAGEMENT 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- fdlus dgk  ßizcU/k nwljksa ds ek/;e ls phtksa dks izkIr djus 

dh dyk gSÞ \ 

Who said, “Management is the art of getting things 

done through others” ? 

2- ‘kSyh ds vk/kkj ij izcU/kd fdrus izdkj ds gksrs gSa \ 

What are the types of managers depending on the  

style ? 

3- vk/kqfud izcU/k dk tud dkSu gSa \ 

Who is the father of Modern Management ? 

4- POSDCORB ‘kCn dks fdlus fodflr fd;k \ 

Who developed the word POSDCORB ? 

5- laxBu O;fDr;ksa dk ,d 
------------

 lewg gSA 

Organisation is a ............ grouping of individuals. 

6- la?k”kZ ds fdrus Lrj gksrs gSa \ 

How many levels of conflict are there ? 

7- usr`Ro ds dksbZ nks n`f”Vdks.k fyf[k,A 

Write any two approaches of leadership. 
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8- HkkjkiZ.k dh fMxzh fyf[k,A 

Write degree of delegation. 

[k.M&c 

(Section—B) 

9- izcU/k D;k gS \ 

What is Management ? 

10- ,d izcU/kd vf/kd izHkkoh dSls gks ldrk gS \ 

How can a manager be more effective ? 

11- fodsUnzhdj.k dh fo’ks”krk,¡ D;k gSa \ 

What are the characteristics of decentralisation ? 

12- /kkj.kk dks ifjHkkf”kr dhft,A 

Define Perception. 

13- izcU/k nkf;Ro ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on Management Obligation. 

14- fu.kZ;u dks ifjHkkf”kr dhft,A 

Define decision-making. 

[k.M&l 

(Section—C) 

15- usr`Ro dk dqN egRo fyf[k,A 

Write some importance of leadership. 

16- vfHkizsj.k ds dqN y{k.k fyf[k,A 

Write some features of motivation. 
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17- izcU/kd ds vko’;d xq.k D;k gSa \ 

What are the essential qualities of managers ? 

18- laxBukRed ifjorZu ij ,d y?kq fucU/k fyf[k,A 

Write a short essay on organizational change. 

[k.M&n 

(Section—D) 

19- izcU/k fopkj esa Vsyj ;ksxnku dks foLrkj ls O;k[;k dhft,A 

Explain in detail the contribution of Taylor to 

management thought.  

20- laxBu pkVZ ij ,d fuca/k fyf[k,A 

Write a essay on “Organizational Charts”. 

21- izf’k{k.k dh vko’;drk  egRo ,oa gkfu dks crkb,A 

State the need, importance and disadvantages of 

training. 

22- fu.kZ;u ds fofHkUu ekWMy D;k gSa \ O;k[;k dhft,A 

What are the various models of decision-making ? 

Explain. 

[k.M&b 

(Section—E) 

23- HkkjkiZ.k dh izfØ;k ij ppkZ dhft,A HkkjkiZ.k ds fl)kUr 

D;k gaS \ 



 [ 6 ] P–7261 

Discuss the process of delegation. What are the 

principles of delegation ? 

24- ßizcU/k ,d foKku vFkok ,d dyk gSAÞ bl laca/k esa viuk 

n`f”Vdks.k crkb,A 

“Management is a Science or an Art.” State your view 

in this regard. 
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B. B. A. (First Year) 

  Term End Examination, June-July, 2020-21 

Paper Second 

INTRODUCTION TO ACCOUNTANCY 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- foŸkh; ys[kkadu laLFkk dh 
------------

 fLFkfr dks crkrk gSA 

Financial accounting states the..........position of an 

organization. 

2- 
------------ 

dks ewy izfof”V dh iqLrd dgk tkrk gSA 

..........is called the book of original entry. 

3- lEifÙk ds ewY; esa fdlh Hkh dkj.k ls gksus okyh ‘kuS% ‘kuS% 

rFkk LFkk;h deh dks 
------------ 

dgrs gSaA 

..........is the gradual and permanent decrease in the 

value of an asset from any cause. 

4- 
------------ 

[kkrkcgh ds uke vkSj tek ‘ks”k ysdj cuk;k x;k ,d 

fooj.k gS] ftldk mís’; iqLrdksa dh xf.kr lEcU/kh ‘kq)rk 

dh tk¡p djuk gSA 

A ......... is a statement of debit and credit balances 

extracted from the ledger with a view of testing the 

arithmetical accuracy of the book. 

5- ‘kq) gkfu rc gksrh gS] tc vk; ls vf/kd [kpZ gksrk gSA 

      ¼lR; @ vlR;½ 

Net loss occurs, when expenses are greater than 

income.     (True / False) 
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6- 
------------ 

,d fuf’pr vof/k ds fy;s jktLo ,oa O;; dk fooj.k 

gSA 

.......... is a statement of revenues and expenses for a 

specific period of time. 

7- dEiuh turk ls vfHknku izkIr djus ds fy;s izLrko j[krh 

gS] de la[;k esa va’kksa ds fy;s vkosnu i= izkIr gksrs gSa  rks 

ml fLFkfr dks 
------------ 

dgk tkrk gSA 

A situation where a company receives applications for 

a less number of shares than offered to the public for 

subscription is termed as ......... . 

8- tc ,d va’k/kkjh LosPNk ls vius va’kksa dks fujLrhdj.k ds 

fy;s okil djrk gS  rks mls 
------------ 

dgk tkrk gSA 

Return of shares voluntarily by a shareholder to the 

company for cancellation is called .......... . 

[k.M&c 

(Section—B) 

9- izcU/kdh; ys[kkadu D;k gS \ 

What is management accounting ? 

10- tuZy ds nks ykHk fyf[k;sA 

Write two advantages of Journal. 

11- Ø; cgh ls vkidk D;k vk’k; gS \ 

What do you mean by purchases book ? 

12- izko/kku D;k gS \ 

What is provision ? 
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13- vfUre [kkrksa dk vk’k; Li”V dhft;sA 

Explain the meaning of final accounts. 

14- ‘ks;j dks ifjHkkf”kr dhft;sA 

Define share. 

[k.M&l 

(Section—C) 

15- ys[kkadu pØ ;k izfØ;k D;k gS \ le>kb;sA 

What is accounting cycle or process ? Explain. 

16- ß kl dk vk;kstu fd;s fcuk vfUre ys[ks fujFkZd gksrs gSaAÞ 

O;k[;k dhft;sA 

“Without providing depreciation the final accounts are 

useless.” Explain. 

17- lap; ds fofHkUu izdkjksa dh laf{kIr esa O;k[;k dhft;sA 

Briefly explain various types of reserves. 

18- _.ki= dks ifjHkkf”kr dhft;s rFkk va’kksa ,oa _.ki=ksa esa 

vUrj crkb;sA 

Define debentures. Also differentiate between shares 

and debentures. 

[k.M&n 

(Section—D) 

19- ys[kkadu izFkkvksa ls D;k vk’k; gS \ ys[kkadu dh fofHkUu 

izFkkvksa dks le>kb;sA 

What do you mean by accounting conventions ? 

Explain the various types of accounting convention. 
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20- fuEufyf[kr ‘ks”k lqfer dqekj dh iqLrdksa ls 31 ekpZ  2012 

dks fy;s x;s gSaA bu ‘ks”kksa ls ryiV cukb;s % 

fooj.k 
jkf’k  

¼`½ 

iw¡th 23,000 

jksdM+ 800 

orZu ¼³s½ 250 

Ø; 11,900 

vf/kdks”k 2,550 

vkgj.k 620 

cV~Vk ¼³s½ 120 

osru 1,860 

QuhZpj 1,100 

etnwjh 4,860 

foØ; 20,480 

fdjk;k 1,260 

_.kh 13,520 

fofo/k O;; 2,460 

_.knkrk  4,420 

;U= 3,300 

foKkiu 300 

izkjfEHkd LdU/k 3,000 
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The following balances are extracted from the books of 

Sumit Kumar on 31st March, 2012. Prepare a Trial 

Balance from these balances : 

Particulars 
Amount 

(`) 

Capital 23,000 

Cash 800 

Commission (Dr.) 250 

Purchases 11,900 

Bank 2,550 

Drawings 620 

Discount (Dr.) 120 

Salaries 1,860 

Furniture 1,100 

Wages 4,860 

Sales 20,480 

Rent 1,260 

Debtors 13,520 

Trade Exp. 2,460 

Creditors 4,420 

Machinery 3,300 

Advertisement 300 

Opening Stock 3,000 
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21- ykHk&gkfu ys[ks dk izk:i nsdj mlesa fd;s tkus okys 

lek;kstuksa dks le>kb;sA 

Give a pro forma of Profit & Loss Account and explain 

all possible adjustments done in it. 

22- 1 tuojh  2001 dks jksfgr da- fyfeVsM ds lapkydksa us ` 10 

okys 100000 va’kksa dks fuxZfer djus dk fu’p; fd;kA ` 2  

izkFkZuk&i=ksa rFkk ` 3 vkcaVu ij ns; gaSA 120000 va’kksa ds 

fy;s izkFkZuk&i= vk;sA lapkydksa us 20000 va’kksa ds izkFkZuk& 

i=ksa dks vLohdkj dj fn;k vkSj /ku okil dj fn;kA ckn 

esa ` 3 izfr va’k ;kpuk ek¡xh xbZA lHkh ns; jkf’k;k¡ izkIr gks 

xb±A 

mi;qZDr O;ogkjksa dks tuZy izfof”V;k¡ dhft;sA 

On 1st January, 2001 the Directors of Rohit Co. Ltd. 

decided to issue 100000 shares of ` 10 each. ` 2 

payable on application and ` 3 payable on allotment. 

Applications were received for 120000 shares. The 

directors decide to reject applications, in respect of 

20000 shares, the application money being refunded in 

full. Later on call of ` 3 per share was made and all 

sums due are received. 

Pass necessary journal entries to record the 

transactions. 

[k.M&b 

(Section—E) 

23- f}&izfof”V iz.kkyh ls vkidk D;k rkRi;Z gS \ bl iz.kkyh 

dh D;k fo’ks”krk,¡ gSa \ ;g iz.kkyh bruh vf/kd yksdfiz; 

D;ksa gS \ 
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What do you mean by double entry system ? What are 

the characteristics of this system ? Why is this system  

more popular ? 

24- fuEufyf[kr ‘ks”kksa ls 31 ekpZ  2014 dks lekIr gksus okys o”kZ 

ds fy;s O;kikfjd ,oa ykHk&gkfu [kkrk cukb;s % 

fooj.k 
jkf’k  

¼`½ 

jgfr;k ¼1 vizSy  2013 dks½ 12,000 

Ø; 35,000 

pqaxh 225 

dk;kZy; O;; 3,350 

osru ,oa etnwjh 2,520 

foØ; okilh 1,200 

foØ; 54,000 

futh O;; 1,500 

O;kikj O;; 450 

_.k ij C;kt 175 

ejEer 850 

 



 [ 10 ] P–7262 

fooj.k 
jkf’k  

¼`½ 

vk;dj 980 

xkM+h HkkM+k 445 

izkIr C;kt 325 

fofu;ksxksa ls vk; 625 

Ø; okilh 350 

kl 700 

fdjk;k 480 

31 ekpZ] 2014 dks jgfr;k dk ewY; ` 13,000A 

From the following balances, prepare Trading and 

Profit & Loss Account for the year ending 31st March, 

2014 : 

Particulars 
Amount 

(`) 

Stock on 1st April, 2013 12,000 

Purchases  35,000 

Octroi 225 

Office Expenses  3,350 

Salary and Wages 2,520 

Sales Return  1,200 

Sales 54,000 

Personal Expenses  1,500 

Trade Expenses  450 

Interest on loan  175 

Repairs  850 
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Particulars 
Amount 

(`) 

Income tax 980 

Carriage  445 

Interest Received 325 

Income from Investment  625 

Purchase Return  350 

Depreciation  700 

Rent 480 

Value of stock on 31st March, 2014 ` 13,000. 
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B. B. A. (First Year) 

 Term End Examination, June-July, 2020-21 

Paper Third 

MANAGERIAL ECONOMICS 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- izca/kdh; vFkZ’kkL= esa lcls egRoiw.kZ rRo QeZ dk 

lw{e&vkfFkZd fl)kUr gSA ¼lR;@vlR;½ 

The single most important element in Managerial 

Economics is the microeconomic theory of the firm.  

       (True/False) 

2- izca/kdh; vFkZ’kkL= esa vkfFkZd fl)kUr vkSj fu.kZ; foKku ds 

vuqiz;ksx fufgr gSaA ¼lR;@vlR;½ 

Managerial Economics involves the application of 

economic theory and decision science. (True/False) 

3- QeZ dk vkfFkZd fl)kUr ;g ekurk gS fd O;olk; lkekftd 

dY;k.k esa vius ;ksxnku dks vf/kdre djus dk iz;kl djrs 

gSaA     ¼lR;@vlR;½ 

The economic theory of the firm assumes that business 

attempt to maximize their contribution to social 

welfare.     (True/False) 

4- QeZ dh miyC/krk mRiknu ds dkjdksa ds dq’ky laxBu dh 

lqfo/kk iznku djus ls gSA ¼lR;@vlR;½ 

Firms exist because they facilitate the efficient 

organisation of factors of production. (True/False) 
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5- ,d laxBukRed lajpuk ds :i esa QeZ ysu&nsu ykxr dks 

de djus ds fy, gSA ¼lR;@vlR;½ 

The firm as an organisational structure, exists in order 

to reduce transaction costs.   (True/False) 

6- O;olkf;d ykHk vkerkSj ij vkfFkZd ykHk ls vf/kd gksrk gSA  

      ¼lR;@vlR;½ 

Business profit is generally greater than economic 

profit.      (True/False) 

7- equkQs ds ,dkf/kdkj fl)kUr dk rdZ gS fd mi;ksx esa 

izfrcaf/kr izos’k equkQs dks fuEu j[kus ds fy, fd;k tkrk 

gSA     ¼lR;@vlR;½ 

The monopoly theory of profits argues that restricted 

entry into an industry tends to keep profits low.  

       (True/False) 

8- vkfFkZd ykxr Li”V vkSj fufgr ykxrksa ds cjkcj gSA  

      ¼lR;@vlR;½ 

Economic cost is equal to the sum of explicit and 

implicit costs.   (True/False) 

[k.M&c 

(Section—B) 

9- izca/kdh; vFkZ’kkL= dks ifjHkkf”kr dhft,A 

Define Managerial Economics. 

10- iwokZuqeku D;k gS \ 

What is forecasting ? 
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11- ,dkf/kdkj dks ifjHkkf”kr dhft,A 

Define monopoly. 

12- jk”Vªh; vk; D;k gS \ 

What is National Income ? 

13- ^ifjorZuh; ykxr* ‘kCn dh O;k[;k dhft,A 

Explain the term ‘variable cost’. 

14- O;kikj pØ dks ifjHkkf”kr dhft,A 

Define Trade Cycle. 

[k.M&l 

(Section—C) 

15- ek¡x dks izHkkfor djus okys rRo D;k gSa \ 

What are the factors affecting demand ? 

16- vkiwfrZ ds fu;e dh O;k[;k ekU;rkvksa lfgr dhft,A 

Explain law of supply with its assumptions. 

17- jktLo  dqy jktLo  vkSlr jktLo rFkk lhekar jktLo dh 

vo/kkj.kkvksa dks Li”V dhft,A 

Explain the concept of revenue, total revenue, average 

revenue and marginal revenue. 

18- O;kikj pØ dh fo’ks”krkvksa dh O;k[;k dhft,A 

Discuss the features of trade cycle. 

[k.M&n 

(Section—D) 

19- ek¡x dh yksp ds fofHkUu izdkjksa dh O;k[;k dhft,A 

State the various types of demend elasticity. 
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20- Hkkjr esa lsok {ks= ds fodkl ds dkj.kksa dh O;k[;k dhft,A 

Explain the reasons for the growth of Service Sector in 

India. 

21- vkfFkZd fodkl ds dkjd D;k gSa \ 

What are the determinants of Economic  

Development ? 

22- mRikn fofHkUurk rFkk ewY;&foHksn ds e/; vUrj crkb,A 

Differentiate between price-discrimination and product 

differentiation. 

[k.M&b 

(Section—E) 

23- cktkj dks ifjHkkf”kr djrs gq, bldh fo’ks”krk,¡ crkb, rFkk 

iw.kZ ,oa viw.kZ izfr;ksfxrk esa ewY;&fu/kkZj.k dh O;k[;k 

dhft,A 

Define market, its features and price-determination 

under perfect and imperfect competition ? 

24- O;kikj pØ ds fofHkUu fl)kUrksa dh O;k[;k dhft,A 

Discuss the various theories of trade cycle. 

 

 

 

 

 

 

P–7263   
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P–7264 

B. B. A. (First Year) 

 Term End Examination, June-July, 2020-21 

Paper  Fourth 

BUSINESS ENVIRONMENT 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- izkS|ksfxdh ckgjh okrkoj.k dk ,d mnkgj.k gSA 

      ¼lR;@vlR;½ 

Technology is an example of an external environment. 

(True /False) 

2- izcU/ku fl)kUr vkSj ewy fl)kUr dsoy cM+s fuxeksa ij ykxw 

gksrs gSa  NksVs O;olk;ksa ij ughaA ¼lR;@vlR;½ 

Management theories and principles apply only to 

large corporations, not small business. (True /False) 

3- ikfjfLFkfrdh; i;kZoj.k esa gekjs izkd`frd ifjos’k gksrs gSaA 

      ¼lR;@vlR;½ 

The ecological environment consists of our natural 

surroundings.   (True /False) 

4- jktdks”kh; uhfr ls rkRi;Z ljdkj }kjk ykxw djk/kku vkSj 

O;; uhfr;ksa ls gSA ¼lR;@vlR;½ 

Fiscal policy refers to taxation and spending policies 

implemented by government.  (True /False) 
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5- ldy ?kjsyw mRikn ds rhu ?kVd gSa % [kir  fuos’k vkSj 

‘kq) fu;kZrA  ¼lR;@vlR;½ 

Gross domestic product has three components : 

consumption, investment and net exports. (True /False) 

6- ekSfnzd uhfr ,d dsUnzh; cSad }kjk /ku vkSj C;kt njksa dh 

vkiwfrZ dks fu;af=r djus ds fy, dk;ks± dks lanfHkZr djrh gS 

tks foŸkh; cktkjksa dks lh/ks izHkkfor djrh gSA ¼lR;@vlR;½ 

Monetary policy refers to actions by a central bank to 

control the supply of money and interest rates that 

directly influence the financial markets. (True /False) 

7- ,d laxBu ds izeq[k ewY;ksa dks mlds vf/kdka’k lnL;ksa }kjk 

lk>k fd;k tkrk gS  bls ßmilaLd`frÞ dgk tkrk gSA 

      ¼lR;@vlR;½ 

An organization‟s core values shared by a majority of 

its members is called its “subculture”. (True /False) 

8- ;kstuk vk;ksx Hkkjr esa vkfFkZd fu;kstu dk loksZPp fudk; 

gSA     ¼lR;@vlR;½ 

Planning Commission is the apex body of the 

economic planning in India.   (True /False) 

[k.M&c 

(Section—B) 

9- ^O;kikj* ‘kCn dks ifjHkkf”kr dhft,A 

Define the term „Business‟. 
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10- ^O;kikj pØ* ‘kCn ls vkidk D;k rkRi;Z gS \ 

What do you mean by the term „business cycle‟ ? 

11- ekSfnzd uhfr ls vkidk D;k vfHkizk; gS \ 

What do you mean by monetary policy ? 

12- O;kikj uhfr dh vo/kkj.kk D;k gS \ 

What is the concept of trade policy ? 

13- rduhdh okrkoj.k ls D;k rkRi;Z gS \ 

What do you mean by technological environment ? 

14- vUrjkZ”Vªh; jktuhfrd okrkoj.k ls vkidk D;k rkRi;Z gS \ 

What do you mean by international political 

environment ? 

[k.M&l 

(Section—C) 

15- O;kolkf;d okrkoj.k ds izdkjksa dk la{ksi esa o.kZu  

dhft,A 

Briefly describe the types of Business Environment. 

16- vkfFkZd fodkl ds fofHké fu/kkZjdksa ij ppkZ dhft,A 

Discuss the various determinants of economic 

development. 
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17- ekSfnzd uhfr ds fofHké ØsfMV fu;a=.k midj.kksa ij ppkZ 

dhft,A 

Discuss the various credit control instruments of 

monetary policy. 

18- O;olk; ij izkS|ksfxdh ds izHkko ij ppkZ dhft,A 

Discuss the effect of technology on business. 

[k.M&n 

(Section—D) 

19- O;kolkf;d Qeks± ds fy, O;olk; ds ekgkSy dh le> D;ksa 

egRoiw.kZ gS \ 

Why is understanding of business environment 

important for business firms ? 

20- O;kikj vkSj fuos’k iSVuZ ij lkaLd`frd okrkoj.k ds izHkko ij 

ppkZ dhft,A 

Discuss the influence of cultural environment on trade 

and investment patterns. 

21- vUrjkZ”Vªh; ekSfnzd fuf/k ds mís’;ksa ij ppkZ dhft,A 

Discuss the aims of International Monetary Fund. 

22- i;kZoj.kh; ewY;kadu dks izHkkfor djus okys fofHké dkjd 

D;k gSa \ 

What are different factors affecting environmental 

appraisal ? 
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[k.M&b 

(Section—E) 

23- fofHké vUrjkZ”Vªh; O;kikj eksM ij ppkZ dhft,A 

Discuss the various international business modes. 

24- vkS|ksfxd uhfr ds gky ds fodkl ij ppkZ dhft,A 

Discuss the recent developments of industrial policy. 
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P–7265 

B. B. A. (First Year) 

 Term End Examination, June-July, 2020-21 

Paper Fifth 

BUSINESS STATISTICS 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1

2
2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- MsVk ds voyksdu dh mPpre la[;k dks 
----------------

 dgk tkrk 

gSA  

The highest number of observation of data is  

called .......... . 

2- MsVk ds lcls vf/kd vkSj lcls NksVs eku ds chp ds vUrj 

dks 
---------------------

 dgk tkrk gSA  

The difference between the largest and the smallest 

value of a data is called ............ . 

3- fdlh ?kVuk ds ?kfVr gksus ;k u gksus dh laHkkouk dks  
------------------

 dgrs gSaA  

The chance of happening or not happening of an event 

is called ............ . 

4- ;fn ,d iw.kZ /kukRed lglEcU/k gS  rks r dk eku 
------------------

 

gksrk gSA  

If there is perfect positive correlation, then the value of 

r is ........... . 

5- le; ds vk/kkj ij MsVk ds ,d lsV dks 
-------------------

 MsVk dgk 

tkrk gSA  

A set of data depending upon the time is called .......... 

data. 
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6- 
xy

b  vkSj 
yx

b  izfrxeu xq.kkad nksuksa dk ewY; O;fDrxr :i 

ls ------------------- ls vf/kd ugha gks ldrkA 

The value of both bxy and byx regression coefficient 

individually cannot be more than ............. . 

7- voyksdu ds fy, pquh xbZ tula[;k ds NksVs vuqikr dks  
-------------------

 dgk tkrk gSA  

A small proportion of population selected for 

observation is called ........... . 

8- MsVk ds f’k[kj fu/kkZj.k ds eki dks 
--------------------

 dgk tkrk gSA  

A measure of whether the data are peaked is  

called ........... . 

[k.M&c 

(Section—B) 

9- lkaf[;dh dh lhekvksa dh O;k[;k dhft,A  

Explain the limitations of Statistics. 

10- ijLij vuU; ?kVukvksa vkSj lEiw.kZ ?kVukvksa dks ifjHkkf”kr 

dhft,A  

Define Mutually Exclusive events and Exhaustive 

events. 

11- dsUnzh; izo`fŸk ds ekiksa ls D;k rkRi;Z gS \ 

What is meant by measures of central tendency ? 

12- iz’ukoyh fMtkbu dh vfuok;Zrk,¡ fyf[k;sA 

Write the essentials of questionnaire design. 

13- lwpdkad dks ifjHkkf”kr dhft,A  

Define Index Number. 
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14- prqFkZd fopyu ls vki D;k le>rs gSa \ 

What do you mean by Quartile Deviation ? 

[k.M&l 

(Section—C) 

15- lkaf[;dh dks ifjHkkf”kr dhft, vkSj izca/ku dh fofHkUu 

lkaf[;dh; rduhdksa dh O;k[;k dhft,A  

Define Statistics and explain the various statistical 

techniques of management. 

16- py vkSlr fof/k ls vki D;k le>rs gSa \ mnkgj.k lfgr 

le>kb,A  

What do you mean by Moving Average method ? 

Explain with example. 

17- frjNkiu@fo”kerk ij ,d laf{kIr uksV fyf[k,A  

Write a short note on Skewness. 

18- uhps fn;s x, MsVk ls lglEcU/k xq.kkad dh x.kuk dhft, % 

Å¡pkbZ (X) otu (Y) 

174 

175 

176 

177 

178 

182 

183 

186 

189 

193 

61 

65 

67 

68 

72 

74 

80 

87 

92 

95 
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Calculate the correlation coefficient from the data 

given below : 

Height (X) Weight (Y) 

174 

175 

176 

177 

178 

182 

183 

186 

189 

193 

61 

65 

67 

68 

72 

74 

80 

87 

92 

95 

[k.M&n 

(Section—D) 

19- dsUnzh; izo`fŸk ds vPNs eki dh fo’ks”krk,¡ D;k gSa \ 

What are the characteristics of a good measure of 

central tendency ? 

20- ‘kkL=h;  lkis{k vko`fŸk vkSj O;fDrijd n`f”Vdks.k ds lEcU/k 

esa laHkkouk dks ifjHkkf”kr dhft,A  

Define probability with respect to Classical, Relative  

Frequency and Subjective approach. 

21- ifjdYiuk ijh{k.k ls vki D;k le>rs gSa \ Vkbi&I rFkk 

Vkbi&II =qfV dh O;k[;k dhft,A  

What do you understand by ‘Hypothesis testing’ ? 

Explain Type-I and Type-II errors. 
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22- fuEufyf[kr MsVk ls fHkUurk ds xq.kkad dh x.kuk  

dhft, % 

vad Nk=ksa dh la[;k 

1—3 

3—5 

5—7 

7—9 

40 

30 

20 

10 

Calculate the coefficient of variation from the 

following data : 

Marks No. of Students 

1—3 

3—5 

5—7 

7—9 

40 

30 

20 

10 

[k.M&b 

(Section—E) 

23- uewuk rduhd D;k gS \ fofHkUu izdkj ds izkf;drk izfrp;u 

dh O;k[;k dhft,A  

What is Sampling Techniques ? Explain the various 

types of probability sampling. 
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24- dkj[kkus Jfedksa dh etnwjh nj uhps nh xbZ gSA rhu lky 

ds ewfoax ,ojst dk mi;ksx djrs gq, etnwjh izo`fŸk dks 

n’kkZb;s % 

o”kZ etnwjh ¼`½ 

2004 

2005 

2006 

2007 

2008 

2009 

2010 

2011 

2012 

1,200 

1,500 

1,400 

1,750 

1,800 

1,700 

1,600 

1,500 

1,750 

 The wages of certain factory workers are given as 

below. Using 3 years moving average indicate the 

trends in wages : 

Year Wages (`) 

2004 

2005 

2006 

2007 

2008 

2009 

2010 

2011 

2012 

1,200 

1,500 

1,400 

1,750 

1,800 

1,700 

1,600 

1,500 

1,750 

P–7265   



 

 P. T. O.  

P–7266 

B. B. A. (First Year) 

 Term End Examination, June-July, 2020-21 

Paper Sixth 

BUSINESS COMMUNICATION 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- laizs”k.k ,d 
----------------

 izfØ;k gSA 

Communication is a ........... process. 

2- vfHkO;fDr ds vk/kkj ij laizs”k.k ds nks izdkj D;k gSa \ 

What are the two types of communication on the basis 

of expression ? 

3- O;kolkf;d i= 
----------------

 i= ds varxZr vkrs gSaA 

Business letters are included in .......... letters. 

4- LokWV dk iw.kZ :i fyf[k,A 

Write full form of SWOT. 

5- C. V. dk iw.kZ :i fyf[k,A 

Write full form of C. V. 

6- lHkk ds var esa fy[kk tkus okyk fooj.k dgykrk gS 
-------------

A 

A description which is written at the end of meeting is 

called ............ . 

7- nwjHkk”kk f’k”Vkpkj ds dksbZ nks fuf”k) okD; fyf[k,A 

Write any two forbidden phrases of Telephone 

Etiquettes. 
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8- O;olk; esa laizs”k.k dh dksbZ nks ck/kk,¡ fyf[k,A 

Write any two communication barriers in business. 

[k.M&c 

(Section—B) 

9- laizs”k.k dh lhek,¡ crkb,A 

What are the limitations of communication ? 

10- laizs”k.k ds dksbZ rhu rRo fyf[k,A 

Write any three elements of communication. 

11- doj ysVj D;k gS \ 

What is a cover letter ? 

12- fjT;we o O;fDr o`Ÿk (CV) esa dksbZ rhu vUrj fyf[k,A 

Write any three differences between Resume and C. V. 

13- lk{kkRdkj dks ifjHkkf”kr dhft,A 

Define Interview. 

14- laizs”k.k vojks/k ls vki D;k le>rs gSa \ 

What do you understand by Communication Barriers ? 

[k.M&l 

(Section—C) 

15- lapkj ds {ks= dks la{ksi esa le>kb,A 

Briefly explain the scope of communication. 
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16- vki ,d f’kdk;rh i= fdl izdkj fy[ksaxs \ 

How do you write a complaint letter ? 

17- lk{kkRdkj iwoZ dh ;kstuk ij fVIi.kh fyf[k,A 

Write a note on Pre-Interview Planning. 

18- Jo.k dkS’ky ls vki D;k le>rs gSa \ 

What do you understand by Listening Skills ? 

[k.M&n 

(Section—D) 

19- Li”V o laf{kIr ys[ku dh ck/kkvksa dks le>kb,A 

Elaborate the obstacles of clear and concise writing.  

20- mís’;iw.kZ izfrosnu dSls fy[kk tkrk gS \ 

How to write a purposeful Report ? 

21- jkstxkj izkfIr ds fy, vkosnu i= fyf[k,A 

Write a letter for applying for Job. 

22- ,d lfØ; Jksrk dSls cuk tk ldrk gS \ le>kb,A 

How to become an active listener ? Discuss. 

[k.M&b 

(Section—E) 

23- laizs”k.k ds mís’; o fl)kUr crkb,A ,d O;kolkf;d 

laLFkku esa bldh D;k Hkwfedk gS \ 
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State the objectives and principles of communication. 

What is the role of communication in a business 

organization ? 

24- laizs”k.k dh ck/kk,¡ dkSu&lh gSa \ bUgsa dSls nwj fd;k tk 

ldrk gS \ 

What are the communication barriers ? How can they 

be overcome ? 
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